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1 & 2. Look at next page
3ab. {10, -4}

4ab. {_7i\/5_7}
5, {—3i\/2_9}
6. {Zi\/ﬁ}

7.{0,-1,1/2}
8. (2x+1)(x+2)(x-2)
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Solve by completing the square only.
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7. Solve by factoring: Gﬂ'ﬂ [,&-f'#ﬁj
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9. Inthe notes, we stated that completing the square is not "pretty” when the 'x
term is odd. Solve the followm P,x complaiﬁfhz square, and then explain why
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Helpful chart in your packet with examples: review on your own.
Choosing which method to use to solve quadratics takes as much skill as being able

to use thesemethods. This chart mav heln.
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- Summary of Solving Quadratic Equations d\»
Method When to Use Examples
Factoring Pc? ¢ =0 orthe X 4+4x+3=0
expression is easily _ ‘y‘a &
el $ factorable. (x i 3)()( * 1) =0 \%-e - \& ”
x=-3orx=-1 reﬂ_Q’ )
Square roo -0 he variable side of (x—5) =24
= he equation is a l(x—57% = +V24
K -\ s perfect square. (x =
~\ x-5=+2/6
0k
X0
X Y- x=5+2/6
Completing the a=1andbisan x24+6x=10
square / even number. 2+ 6x+ =10+
- 2 2
2 61" _ 6!
» w x+&+(5}_10+(2)
\ 9’ (x+3)*=19
x=-3+ \/ﬁ
Quadratic Formula Numbers are large or Sx2—7x-8=0
complicated, and the
expression does not - -7+ V(—-’)z —4(5)(-8)
factor easily. 2(5)
_7+v209
- 10

Which method do you like the best? Why?
Tell your neighbor
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1-13: Solving all types of Quadratic Equations

Decide on the method (factoring, square roots, completing the square, or the
quadratic formula) and then solve. Use eachinethod atleast once.
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5. x2-8x=13

6. 2x4+24x3+6
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‘What is the difference between factoring and solving for x?

Factoring is breaking down an expression into factors.
Solve for x is getting a value for x.
Factoring sometimes helps us to solve for x.

Challenge question.
A quadratic in standard form is ax? + bx + ¢ = 0. We can use completingthe square in
orderto derive the uadratic formula. Start by dividing each term by a.
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